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#include <iostream>
using namespace std;
int main() {

int T;

cin >> T;

while (T--) {

| int n;
cin >> n;

£

inta=0,b=0, c=0; // 7WEi1. 2. 307K
/! VRO Z T (60 E T, #HH6A)

for (int i = 0; i < 6; ++1) {

| int digit = n % 10; // W55 M T

if (digit == 1) a++;

else if (digit == 2) b++;

else if (digit == 3) c++;
| n /= 10; // B ST TN T
}

1/ HBTAR BT F A

if (a=18 b==288 c ==3) {

; cout << "Yes\n";

} else {
| | cout << "No\n";
-}

}

return 0;
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#include <iostream>
using namespace std;
int main() {
int X3
cin >> X;
int total = 0; // H&LEr 7L AT
/! B TR LA
for (int i =15 1 <= 9; #+i) {
| for (int § = 13 § <= 93 &) {
 total += i * j;
.}
}

int cnt = 0; // X HBHIAE

/] B Hil X HBAE

for (int i = 1; i <= 9; ++i) {

: for (int j = 1; j <= 9; ++j) {
; if (1 * j == X) {

| cnt++;

}

: ;}
}

[/ B=: X BIEF = LA - XA E
cout << total - X * cnt << endl;
return 0;
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#include <bits/stdc++.h>
using namespace std;
int main() {
int tcase;
cin >  tcase; // pEHI A P E
while (_ tcase--) { // LZLEEFEFHI A HTH)
5 int k;
string s, t;
cin > k > s > t3 // R, TGS
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[/ 15 SAT M 0L HF)

if (s == t) {

5 cout << "Yes\n";

§ continue;

}

int len s = s.size(), len t = t.size();
[/ G2, KEEEN, 1458 F L2
if (abs(len s - len t) > 1) {

' cout << "No\n";

continue;
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[/ a3 KIEHA, 1582 &K 7l A 15K
if (len_ s == len t) {
int cnt = @; // ZHi[ TAAERE
for (int 1 = 0; 1 < len s; ++i) {
~ if (s[i] != t[i]) {

% cnt++,
5 ZIR I, fERIABH (OF s 5 1)
it (cnt > 1) break;

)

[/ FIFES 1A TT
if(cnt <= 1)
1

}

else cout<<"No\n";
continue;

cout<<"Yes\n";



if (len_s < len_t) swap(s, t); ﬁﬁiﬁylfﬁi
bool fg = true;
// 1A s, it
for (int i =0, j = 0; 1 < s.size(); ++i, ++j) {
if (s[i] != t[j]) {
/! B—XNOLHE: BEL s 557 77 (HRAUBIEE) » §AFEZ)
1f (i = §) { // Mwﬂfz‘f%fflfa (1] EZE1)
| j--3 /7 JIRFAFLA, F—R8HLXEt[] Fls[i+1]
§ continue;
}
/! B TAANOCRD: LG LA A A
fg = false;

; § break;
)

}

if(fg == true)

{

| cout<<"Yes\n";
}

else cout<<"No\n";

}

return 0;|
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#include <iostream>
using namespace std;
#define int long long
$ntE n; s K3
/! P T K TETHBRPIIICT: 115 <=xIx3E 1, Z>=RI& [Ftrue
bool chk(int x) {
int sum = @3
[/ EGFF—ri, i3 rH<=xityx 5 1%
for (int 1 =15 i <= nj +i) {
/] FATILFERx 1, ix 2, ..., ix m, FHf<=xii@R A5 Fmin(m, x/i)
sum += min(m, x / 1i);

}

return sum >= k;
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int main() {
cin >> n >> m >> k;
int1=1, r=n*m; // BN LGLUFR
int ans; // FEFHRDIIICFE
while (1 <= r) {
5 int mid = (L +r) / 2; // H/HE
1f (chk(mid)) {

/) F<=midfI7CZ& "=k, W EF]g5Emidil &) F7E
ans = mid;
- = mid - 13
} else {
| [/ Zr<=mid 10 FE <k, WHEER—EX Tmid
- 1 = mid + 1;
-}
}
cout << ans << endl;
return 0;



